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Judge’s Detail per Skater — Free Skating / /—E AALF

Rank ®@FH MR TBEIR Seg.rrnoetrz:tI EIeTmt:-;t:{ Pro;::rar: DeductTig:lasl
Score Score Component
Score (factored)
1 0 i) B4 2 7ThT I~ 2 61.10 29.79 32.31 -1.00
# Executed Info = Base GOE J1 J2 J3 Ja J5 Ref Scores of
Elements L. Value Panel
1 3 < F 344 -1.38 0 -5 -5 -5 -5 2.06
2  3S<+REP < F 24 -1.72 -5 -5 -5 -5 -5 0.69
3 2F+2A+2A+SEQ 8.40 0.40 1 2 1 1 1 8.80
4 2o 1.70 0.10 0 0 1 1 1 1.80
5 LSp4 2.70 0.11 1 1 0 0 0 2.81
6 StSq2 2.60 0.47 1 3 1 2 2 3.07
7 FSSp3 2.60 0.10 0 0 0 1 1 2.70
8 2F 198 X 0.18 1 3 1 0 0 216
9 2lze+2T e 328 X -034 -3 -2 -2 -3 0 2.94
10 CCoSp3 3.00 -0.24 -1 -1 0 -1 -1 276
32.11 29.79
Program Components Factor
Composition 267 400 425 350 400 425 4.00
Presentation 2.67 425 425 375 425 425 4.15
Skating Skills 267 400 400 375 400 400 3.95
Judges Total Program Components Score (factored) 32.31
Deductions: B5{El: -1.00 (2) -1.00
2RFa—h-/NEE(vote): (1 of 5)
<=Under-rotated jump X=Credit highlight distribution, base value multiplied by 1.1 e=Wrong edge
Rank B#FH_ MR BEIR Seg.rrnoetrz:tI EIeTmt:-;t:{ Pro;::rar: DeductTig:lasl
Score Score Component
Score (factored)
2 ¥BEY L BEMF 177hT - 1 47.15 21.08 26.57 -0.50
# Executed Info = Base GOE J1 J2 J3 Ja J5 Ref Scores of
Elements L. Value Panel
1 2LzK KL 0.60 -0.30 -5 -5 -5 -5 -5 0.30
2 2AK 14 1.10 -0.42 -5 -4 -3 -4 -3 0.68
3 2F! ' F 180 -0.90 -5 -5 -5 -5 -5 0.90
4 FSSp4 3.00 0.06 0 0 1 0 0 3.06
5 2AKL+2T< KL 214 -0.55 -5 -5 -5 -5 -5 1.59
6 StSq2 2.60 -0.10 -1 0 0 -1 0 250
7 LSp3 240 0.19 1 0 1 1 1 2.59
8 2Lz+1A+1A+SEQ 473 X -0.08 -1 -1 0 0 0 4.65
9 2o 187 X 0.00 0 0 0 0 0 1.87
10 CCoSp4 3.50 -0.56 -2 -3 -2 -1 0 294
23.74 21.08
Program Components Factor
Composition 267 325 350 350 300 325 3.30
Presentation 2.67 375 350 300 275 325 3.25
Skating Skills 267 350 375 300 325 350 3.40
Judges Total Program Components Score (factored) 26.57
Deductions: B5{El: -0.50 (1) -0.50

<<=Downgraded jump X=Credit highlight distribution, base value multiplied by 1.1 !=Not clear edge
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